
Dreidel puzzle answer

Each of the clues solve to a four-letter word, two letters of which are shown on a 
dreidel. The answers:

Actually existing	 REAL
Brainstorm output	 IDEA
Dreidel prize	 GELT
Eat sparingly	 DIET
Kind or class	 TYPE
Lay in the sun	 BASK
Musical phrase	 RIFF
Not right	 LEFT
Slow-cooked dish	 STEW
Takeover	 COUP
They power a longship	 OARS
What the end often is	 NIGH
Window blind piece	 SLAT

By spinning each dreidel 180°, the 13 new pairs of letters read as:

UPRIGHT DREIDELS LAST LETTERS

By taking the six dreidels that are upright, and looking at the last letters of the 
words that are on them, those letters read, in order:

LATKES


